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41. Identify the unit in which there is an error :

Many people are painting their houses White these days

(a) (b) (c)

(1) only - (a) {2) only - (b) (3) only- (o) (4) No error
42, Change the following into interrogative :

'She drew a picture’

(1) Was she drawing an picture ?  (2) Have she drawn a picture ?

(3) Did she draw a picture ? . (4) Has she draw a picture ?
43. Fill in the blank with the correct form of the tense given in bracket.

Reena did not go to school yesterday as she _ (finish)*her homework.

(1) had not finished (2) have not finished

{3) has not finished (4)  will not finished
44. Identify the correct figure of speech in the given lines.

Alone, alone, all, all alone

Alone on a wide, wide sea

(1) Personification (2) Alliteration (3)° Apostrophe (4) Irony
45. Change the following into indirect speech :

She said to him, “1 know you.”

(1) She said to him that I knéwshim.

(2) She said to him that shé\knew me.

(3) She said to him that she'knew him.

(4) She said to himjthat'she knows him.
46. Choose the moShsuitable word opposite in meaning of the word :

'‘Casual'

(1) accidental (2) formal (3) informal (4) systematic
47. Find out the incorrect sentence from the following :

(1) Fifty thousand rupees is a big amount.
(2)

(3) Five years is a long period.
(4) One of the books is damaged.

Ten miles are not a short distance.
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48, Complete the following sentence by choosing the correct phrasal verb :

She is very strong. She doesnot _____ easily.

(1) givein (2) giveup (3) giveout (4) give away
49. Choose the right option for the following underlined idiom.

I am Prepared to meet you half—wal )

(1) Come to discuss with you.

(2) Come to a compromise with you.

(3) Come to celebrate with you.

(4) Come to fight with you.
50. Fill in the blank with correct preposition :

He has been in hospital last week.

(1) in (2) for (3) since (4) from
51. Fill the blanks from the options given below,

It already raining when'l an umbrella.

(1) stopped, brought, had (2) had, brought, stopped

(3) brought, stopped, had (4) had, stopped, brought
52. Choose the correct optionftefill in the blank :

My eyes are aching now because I _ since morning,

(1) am reading (2) have read

(3) have been\reading (4) read
53. Identify“the part of speech of the underlined word :

He is an idle boy, he does not work.

(1) Noun (2) Verb (3) Adjective 4) Adverb
54. Select the word which means the same as the following group of words :

‘One who does not believe in God.’
(1) Unreligious (2) Atheist (3) Pagan (4) Theist
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Complete the following sentence by using the correct option :
Man is related to shout in the same way crow is related to

(1) caw (2) chirp (3) mutter (4) mob

56.

Find out the word that is misspelt :
(1)  Believe (2) Relieve (3) Grieve (4) Decieve

57,

A word is spelt in four different ways, out of which only one is correct. Find the correctly
spelt word :

(1) Commettee (2) Committe (3) Comittee @), Committee

58.

Kolkata is more populous than most other cities of India.

Which of the following option is correctly converted from(the above sentence.
(1)  Kolkata is the most popular city of India.

(2

(3
(4

) There is no other city in India as populous as KolKata.
) Some other cities of India are not more pepuléus than Kolkata.
)

Kolkata is one of Lhe most populous,ities-0f India.

59.

Choose the correct word which expresSes the meaning of the underlined word in the
following sentence :

She looked at the physically ¢hallenged children with contempt,

(1) hatred (2) odisrespect (3) pity (4) sympathy

60.

Fill in the blank'by~choosing the correct alternative :
Is that my book, or is it _ ?
(1)  Your {2)  Your's {3)  Yours {4)  Your’s book

61.

Choose the correct pair of articles to fill in the blanks :

He was ___ honest man but _ people in the neighbourhood did not like
him.
(1) a, the (2) the, a {3) an, the {4) the, the

THoedT SIS W /SPACE FOR ROUGH WORK
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62. Choose the right option given below. Convert the following into indirect speech.
“Have you finished your lesson, Hari ?” Said Mr. Sharma to his son.
(1) Mr. Sharma said to Hari if he had finished his lesson.
(2) Mr. Sharma said to his son Hari that have you finished your lesson.
(3) Mr. Sharma asked his son Hari whether he had finished his lesson.
(4) Mr, Sharma enquired of his son Hari that whether had he finished his lesson.

63. Arrange the following sentences in proper sequence.
(a) He gives raw materials for many industries.
(b) If the agriculture fails, the industry fails and the whole national economy collapses.
(c) The farmer is the very backbone of our national economy.
(d) He gives food to the nation.
Answer options : ,
(1) (o), (a), (), (b) @) @), (b)) @)
(3)  (©). (d), (a) (b) ) (b)) (@) ()

64. Fill in the blank with the correct word from the given/optiens :
Walking twenty kilometres non-stop is quite a .
(1) feat (2) feet (3, it (4) foot

65. Match (A) and (B) to make four meaningful sentences :

(A) (B)
(a) Never talk (i)  After the match had been over
(b) We marched back {iiy When the sun had set
{¢) The farmer left his fields (iii) Where from it cannot return
(d) His soul has reached {iv) While you are at meals

Answer options :

@ (b (Q\@
1) (v) @) ) (@)
(2) (@) @\ @ (v
3 O ‘@) (i) @)
@) v G @ @

66. Choose the meaning of the underlined idiom :
She's a great singer. She’ll make itbig  one day.

(1) become rich {2} become famous
{3) become popular (4) make the record

THoeAT WIS T /SPACE FOR ROUGH WORK PT.0
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67. Identify the unit in which there is an error :

There is Several reasons for your mistakes,

(a) (b) (©
(1) only-(a) (2) only - (b) (3) only - () (4) No error

68. Choose the alternative that indicates correct meaning of the underlined word :

Inspite of the financial constraint, Vishal started his business and very soon became a
successful industrialist,
{1) Freedom (2) Restriction (3) Support (4) Promise

69. Pick out the correct sentence from the following :
(a) The drought in this year is very serious.
(b)  What has he been doing from Tuesday ?
() He will return at midnight.
(d) 1 met him on last Monday.
Answer options :
(1) (a) and (b) are correct (2) (<) and (d)/are correct
(3) only (c) is correct (4) only (c)is incorrect

70. ldentify the kind of sentence given below s
She must weep or she will die.
(1) Simple sentence {2) Compound sentence
(3) Complex sentence (4) Compound - Complex sentence

71. Fill in the blank with appropriate pair of prepositions :
lawaharlal Nehru was bory’ Allahabad Uttar Pradesh.
(1) at, in (2) 1in, at (3) in, from (4) in,in

72.  Fill in the blarik “with the correct phrasal verb from the given options :
I was ” his behaviour,
(1) shocked for (2) shocked on (3) shocked from (4) shocked at

73.  Which of the following pairs of antonyms is incerrect :
(a) Accept x Reject (b) Bloom x Fade
(c) Defend x Suspend (d) Progress x Regress
Answer options :
(1) (a) only (2) (a) and (b) (3) (c¢) only 4) (c)and (d)
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74. Fill in the blank :

My Father me to go to picnic with my friends.

(1) aloud (2) allowed (3) pray (4) prey
75. Fill in the blank with the correct word choosing from the given options :

The of our house was leaking because of heavy rain.

(1) Sealing (2) Ceiling (3) Sailing (4) Celling
76. Choose the right option for the following underlined idiom.

Today he is in high spirits .

(1) Fearful (2) Joyful (3) Hopeful (4) Greatful
77. Identify the correct meaning of the expression :

viz,

(1) Namely (2) Contrary (3) Infact (4) In short
78. Identify the correct sentence from the following::

(1) Death is preferable than dishonour.

(2) Death is preferable to dishonour,

(3) Dying is preferable to dishonour.

{(4) Dying is most preferable toldishonour.
79. Choose fromthe given altematives the word which is opposite in meaning of the underlined

word :

He issues only verbal \orders to escape the inquiry against those orders in future.

(1) Oral (2) Vague (3) Informal (4) Written
80. Identify the correct and incorrect sentence from the following :

(@) One of the boys told me about Asha’s result.

(b} He has only one woolen trouser.

Answer options :

(1) (a) is correct (b) is incorrect {2) (b) is correct (a) is incorrect
(3) Both (a) and (b} are correct (4) Both (a) and (b) are incorrect
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81. Siew oM :
(a) TR VAN THHAS () =gt T
(b) . @A anfor &.uH, TR (i) ‘oo fawdEad’ Tu= o
(c) TIITes SI=1 ST (iii) <ETEHR GURI HIrE Tl
(d) e Ers @59 (iv) 3rgva A e e
qaiEt I

(@ (®) (o (d)
) Gv) @) @) (i)
@ @) v) @ (@)
@) ) @ (v) (i)
@ O @) @) ()
Match the following :
(a) Maharaja Sayajirao Gaikwad (i) Establishmenbof Tustice Party

(b) P. Tyagrao and T.M. Nair (i) Writingrof scripture of "Vital Vidhvansan’

(¢) Gopal Baba Walangkar (i) Establishment of ‘Chokha Mela
Deveélopment Mandal’

(d) Kisan Faguji Bandsode {iv))Organization of Council for Eradication of
untouchability

Answer Options :

@ () (o) (d)
M @) @ 6@ G
(2 @) (v) @ (@)
@) @) @ (v (i)
(4) @ (m) [y )

82. WRd BIS! TLASIHA it AR AY R e .
(1) &= e (2) S AHEE
(3) TS Fe (@) e
established parallel government in Satara during the Quit India Movement.
{1) Nardev Shastri (2) Umaji Naik
(3) Ganpatrao Kathle (4) Nana Patil
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83. 'SEH-F-9 UM HN 3w T ?

(a) TrUeres! Fed - SgEF TS - FRATY 99T

(b) feF ar=er - qrerTg AR - frewy WS

(c) s M - faarm favegue - e Tas

(d) FOTSH JSH - TN SR - T T

et v faum/ fGum stet R ?
(1) (@) 30 (b) P (2)  (a), (b) o7 (d) T
3) (a) @) (a) ¥ (o) P

Who are known as ‘Brothers-in-Law’ 7

(a) Phirozshah Mehta - Badruddin Tayyabaji - Kashinath, Telang

(b) Dinsha Wachha - Dadabhai Nauroji - Shivram Sathe

{¢) Ramchandra Sane - Shitaram Chiplunkar - Gopalkrishna Gokhale
(d) Krishnaji Nulkar - Narayan Chandayarkar - Gangaram Maske
Which of the statement/s given above\is/are correct ?

() (a) and (b) only (2 (a), (b) and (d) only

(3) (a) only (4) () and (c) only

84. MO 19 M AR ?_Sg. U HH B AR ? 48, § €% F3 B30 ? IR, 310 FEaw Hivrdr
qraifEr Fe ?
(1) T (2) g
(3) TR 4) WL

Who started the weekly, stating that what is your name ? Mutiny. What is our work ?
Mutiny. Where will Mutiny break out ? In India ?

(1) Gaddar (2) Dhumketu (Comet)
(3) Dyanprakash (4) Prabhakar
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85. Siew o :
(a) TS UGl aEER (i) T v’ SR 3EH
(b) IS 9IS (i) R A GO g
(c) wfear voamd (iii) ' ufede @' =t T
(d) W e (iv) TR WU T
i I

@@ (b) (o (d
1) @) @ ) @
(2) (@) () (@) ()
@ Gv) O G (@)
@ () @) @ (@)
Match the following :
(a) Dadoba Pandurang Tarkhadkar (i) Writing of the Nowvel “Yamuna Paryatan’

(b) Baba Padamji {ii) Beginning of MuKti-:Sadan Sanstha
(c) Pandita Ramabai (iii) Establishmerit.6f Social Service League
(d) N.M. Joshi {iv) Establishinent of Paramhansa Sabha

Answer Options :

(a () (o (B
(1) @) @@ () @
(2) @@ (i) @v) ()
@) Gv) () () (i)
(4) () @v) @) @)

86. Teoe Meai=n drifos Sarer E9R %89 @eH J TS 31 FuA St 139 Kot R, @) sl
A4 g9 e,
(1) fEet - feyg - ifean - Ag@r
(2) T - it fayg - JgEn
@) Teyg - et - Fgtew - Tifem
(4)  Feege - viffen - fémieht - 9gER
On the basis of size of the geographical area, identify the correct option arranged with the
order from small to large size district. Choose that option for the correct answer.

(1) Hingoli - Sindhudurg - Gondia - Nandurbar
(2) Hingoli - Gondia - Sindhudurg - Nandurbar
(3) Sindhudurg - Hingoli - Nandurbar - Gondia
(4) Sindhudurg - Gondia - Hingoli - Nandurbar
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87. <aQHH® AW A9 wivwr JET e ?

(1) gl (2) THFEE

(3) THS GOl 4) ==l

Which industry is found at Nagbhid in Chandrapur ?

(1) Lugdi (2) Resham cloth
(3) Wood toys (4) Blanket {chadri)

88. BN WA= FHI fasmen feAiw 9.11.17 =0 TRSANUR, e et sTen Hiowdr
T fasmimed S 2017 ¥ sifeeiat 2017 A1 HTOEHE @ @1 AT gE R T
90% &I AT g1 AT AiQ FeH 7
(1) 9 F g (2) IO 9 ST
(3) Hi®H T AH (@) ATEREITR

According to the Department of Agriculture, Govertunient of Maharashtra data of 9.11.17,
which of the following two divisions received‘\more than 90% rainfall to their normal
rainfall between June 2017 and October 2017 ?

(1) Pune and Nagpur (2» Pune and Amravati
(3) Konkan and Nasik (4) Aurangabad and Nagpur

89. ATQ Ficon gt (fadipaERT fawin), 2015 = SEA@YHY, S 9@ fon o §
Faifs o[ IEX-T g (1001), T @emE S92 (1000), Tared (975) afor
(973) A9 Hicfae A\ e,

(1) TEUEEHS ) T g BEETE
() faawig 3 faginm (@) g 3 Iy R

According to the report of Civil Registration System, 2015, sex ratio at birth has been
recorded as a highest at Dadar - Nagar Haveli (1001), followed by Tripura (1000),

Meghalaya (975) and (973).
(1) Maharashtra and Kerala (2) Goa and Chhattisgarh
(3)  Sikkim and Mizoram (4) Puducherry and Andhra Pradesh

oAl SR AN /SPACE FOR ROUGH WORK PTO
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90. TERTEMIG 45 Ta= fohm 3 ™= T THos few = 4mg Siredn om.
¥g g2 fomror frer
(a) TR () eyt
(b) TemeT (i) gER
(c) dNummRS (iii) TITS
(d) sfar (iv) STERIEdt
Tgier S ;
@ () ( (@
M @ 0 @ W
@ i) G @ 6
G) O @ @) @
@ @ v O (@)
Match the pairs of Hill Stations and its locational district in Mahatashtra.
Hill Station Location district
(a) Matheran (i) Sindhudurg
(p) Chikhaldara (i) Nandurbar
(c) Toranmal (iii) Raigad
(d) Amboli (iv) Amarayati
Answer options :
@ (b) () (d
1 @) @ ) Gv)
(2) @) (v) @) @
G O @ @) )
@ 4 (v )
91, TERISMY qfe@h garmo it @ & FHe.
(1) IS ST - 1855 (2) SERIGS TET - 1854
(3) TSI e - 1854 (4) SiTSioE 2w - 1855
In Maharashtra first cotton textile mill was started by in
(1) Kamraj Dawar - 1855 (2) Jamshedji Tata - 1854
(3) Kawasaji Dawar - 1854 (4) Jijibhai Tata - 1855
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92. o Reed W@ el i1 SR Teea A T feeeaimya A gatg freren
T |t feeit Suct
(@) TIwEd @
(b) T () TSt
(c) T (il 3TN
d) ot (v) 3T
v) EHH
it 3
(@ () () (d)
M ) @ @) @
(2) Gy (@) @Gv) @)
@) @) (v) @@ ()
@) ) v O @@
Match the given main river with its tributary and choose the correct option given below :
Main River Tributary River
(a) Godavari (i) Nira
(b) Narmada (ii) Jagbudi
(c) Bhima (iii) Yerala
(d} Vashishthi (iv), AaSana
(), Udai
Answer options :
@ (b (0 @
1y (v) @ @)y @
(2) G () @VISG)
(G) @) GG @
@) ) O @
93. TRNIWIG HiaFl Fhedr=Il Soedrd TR
(1) EErR 2) TereEE
(3) IATEAEH (4) TORHIHEIR
The water storage of Koyana project in Maharashtra is known as
(1) Nathsagar {2) Shivsagar
(3) Yashwantsagar (4) Naldamyantisagar

HoAT TMIMTETS ST /SPACE FOR ROUGH WORK
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94. TP YA Ia
(a) TENTSTY TEHEA IUTHCHHY Wl YFRE R,
(b) FLEHR T AR I TRNEE (97H TN TS g,
(c) WRNIER Had RG99 A=t 39 g,
Tt I
(1) T fqur (a) TR TR,
(2) wa faum (o) TR IR,
(3) faum (a) 307 () TR oM.
(4) TR (a) 3T (b) FAR A,
Observe the following statements :
(@) The climate of Maharashtra is ‘tropical Monsoon type.
(b) Maharashtra receives rainfall between September to October from Chinuk winds.
(¢} Amboli receive highest rainfall in Maharashtra.
Answer Options :
(1)  Only statement (a) is correct.
(2)  Only statement (c) is correct.
{(3) Statement (a) and (c) are correct.

{(4) Statement (a) and (b) are correct.

HeA] RIS AT /SPACE FOR ROUGH WORK
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95, WIS U= HISEe Vel § 7= ai=d Ay Srew o=,

hqLss
(a) WETH
(b) AR
© U2
@ &
Tt 3 :

@ ) (©
M @ G
(2) i) @) @
@ G
@ @ ) 6

&
@)
(i) =AY
(i) ot
(iv) =M

(@
(i
()
()
()

Match the pairs of river bank city and river in Maharashtrd.

City
(a) Pandharpur
(b) Kolhapur
(c) Dhule
{d) Hingoli
Answer options :
@ () (o)
1 @ () )
2) (@) @ 3G
@) @) @ e
(4) (@) (v )

River
() Panzara
(i) Kayadhu
Bheema

Panchganga

(d)
(i)
)
(iv)
(i)

96. WHGIH! PV YRNY TGS HOH & FHA AN HIEar=ar deuid &R ?

(1) Fo9 4

(2) I 40 (3) w51 (4) FO32

Which of the following Articles of the Indian Constitution is related to the uniform civil

code ?
(1) Article ¢4

(2) Article 40 (3) Article 51 (4) Article 32

o TS AT /SPACE FOR ROUGH WORK
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97. W@ "Heda 'HUdn AR’ Yend SifueR g IR 9l IO HeAgesia ol STiER
g SRl TS TSR ST ?
(1) 1971, 25 9t WG (2) 1976, 42 T TRAIGEEA
(3) 1978, 44 |t TAGEE (4) 1993, 74 A ERAGERIN
In the original constitution, ‘Right to Property’ was a fundamental right. In which year
and according to which constitutional amendment this right was removed from the chapter
on fundamental rights ?
(1) 1971, 25t amendment (2) 1976, 42™ amendment
(3) 1978, 44'™h amendment (4) 1993, 74™ amendment
98. I ToTd HEYTH Tk AGIoA et IrEifsTa FI0am S ?
(1) TN (2) @ (3) YRy (4] TS
In which State, the First Lok Adalat Camp was organized ?
(1) Maharashtra (2) Gujarat (3) Andhra Pradesh(4) Rajasthan
99, WRA- AN Far TRTE- 2017, YRAW hIvwa YeUa Wfaudng e ?
(1) Foww () T (3) - ¥ (4)
In which city of India the India-ASEAN Youth, Supimit - 2017 was held ?
(1) Calcutta (2) Mumbeai {3) Bhopal 4) Chennai
100. WHGIH! R/ G TR TTETH] HoH 51-31 TIR God Hded o1e/d ?

(a) TEGEH TEAH Yok ITSTAT IR el e Jid STTF STl
(b) STTELE widm 7 GHRET A HadT w8,

(c) M= HINU F <A KUIH TIR 0.

g gai fae.

(1) (a) 3 (b) (2)  (a) 1 (<) (@) wH() (¢4 How

Which of the\fellowing is/are the fundamental duties as per Art. 51-A of the Indian
Constitution ?

(@) To cherish and follow the noble ideas which inspired our national struggle for
freedom.

(b) To promote international peace and security.

{c) To defend and serve the country.

Select the proper code.

(1) (a) and (b) (2) (a) and () (3) only(c) (4) Alltheabove

ToAT HIAMIS W /SPACE FOR ROUGH WORK
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101. e fEEad EEwtH A ey Fie sR/q ?
(@) T WA= AR HEE
(b) =ATE HHEE B 35 F§ gUI FHE
(c) HES BT FIIEN fohan Toa favirea oW TaE
g I e
() @atrE @ At @) FEE) (4) o
Which of the following is/are the eligibility criteria for selection of Governor ?
(a) Should be citizen of India

(b) Should be atleast 35 years of age

() Should not be a member of either house of the Parliament or house of the state
legislature

Select correct answer :

(1) () and (b) (2) (b) and (c) (3) Only (b) , (4)y *All the above

102. 1 WA 2017 TR SgF Ue Wiy oy afed ?

(1) «E-FH-T (2) TR S

(3) rAfE @) J9E

Who is the Secretary General of United Natiofis' (UN) since 1% January 2017 ?
(1} Ban-Ki-Moon (2), Kofi Annan

(3) Antonio Guterres (4) U Thant

103. = AT Heuidie @rereds], srar/d faur/a qEe /a2
(a) S IHIEIHA Hd ATl e (eaaeshes el S,
(b) = EEEA AU FAFER o9 65 .
(c) 3= FEEHRENE A= g TR Ugadseg St .
Qi Sy
(1) R (a) (2) R () @ (), 0 (4 o
Which of the following statement (s) is/are false about the High Court ?
(a) Every judge of a High Court is appointed by the Governor.
(b) Age of retirement of High Court judge is 65.

(c)  Chief justice of High Court is appointed by the President of India.
Answer options :

(1) only (3) (2) only (b) @) (a) () (4)  All the above

HOAT HIMMEIS AFT /SPACE FOR ROUGH WORK PT.O
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104. HYQU WA TaavevRE favae O svargdl W arifan a3t o SRy SR gaie
e el fee ?
(1) TR, 2015 (2) STHaR, 2015
(3) TI=ET, 2016 (4) W=, 2014 ’
When did the Supreme Court of India, made playing of National Anthem compulsory at
the start of any cinema, in all the cinema halls of India ?
(1) October, 2015 (2) January, 2015
(3) November, 2016 (4) November, 2014
105. GO A9 FH@ATdS 9T qrg IR el
(@) TorarmRees=t awwee den & faurmi=n da@ GEe STaeTeTNd.
(b) faum e ? vl 9w 9T,
(c) Touritees v dewr fraifaa sraam.
(d) TR faur aiEed 288 9S= HARA.
gt I
(1) () (b) (2) (b (q) @GN (0), (d) #) (b)) (d)
Read the following sentences carefully and‘choose correct answer.
(a) Strength of Legislative Council dépends on that of the Legislative Assembly.
(b) Vidhan Parishad that is Legislative Council is permanent house.
(c) All members of Legislative €ouncil are elected.
(d) Maharashtra Legisldhve 'Council has 288 members.
Answer options :
(1) (), (b) 2) (®) (3) (o) (d) @) (b). (9 (d)
106. 1971 =9 SHLEAS THIV TFH 3.9. 2026 9 SHAT T T DIVAR T GUR G, 9

TEITAR hEMiad Yewidie SagR 2014 = Akayl Faeummed fd gfafted faes To?
1) 13 ) 20 (3) 18 4) 15

Based on the population in year 1971 there would be no modification in the number of
seats in Loksabha till 2026. According to this provision how many candidates were elected
by the citizens of Union Territories in 2014 Loksabha elections ?

1) 13 2) 20 @) 18 @) 15

THEAT HFES AT /SPACE FOR ROUGH WORK
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107. TAEIE! TRAE HEReAEeHd Hion Sy g o1 ?
(1) el iEhE ) TRh wETeHeEn
(3) fosi =T @) ¥ faveE
Which of the following characteristic is not correct in the context of Indian Federalism ?
(1) Dual Citizenship (2)  Dual Polity
(3) Written Constitution (4) Division of Powers
108. EHIfUrETEaT Yasrea A =i 8 o U Fafsed usm ome, qor @ < feawht - g6e /@
feaelt Td W SRt Wee’ 41 A faue S 3 ?
(1) feeem ) WeR-w-gT (3) Afer (4 TR
‘China is a sleeping giant. Let her sleep, for when she wakes she will move the world".
Who made this sort of statement at the beginning of 19th century,?
(1) Hitler (2) Mao-tse-Tung (3) Napolean (4) Mussolini
109. T VAT AiHES ¥ UFfedcl Sy Sereer s6d 7 (/)
(a) IS (b) HEEA (), fauraw
pue el ERECE
(1) (a) 277 (b) (2) " (b) @I B (o) (4) o wd
In the State Government the Council of\Minhisters is collectively responsible to the :
{a) Governor (p) Chief Mipister {c) Vidhan Sabha
Select correct code : ‘
(1) (a)and (b) (2) only (b) (3) only (c) (4) All the above
110, % faymAws=t Sda S 9 1 1 SUTUE STt o9 ?
(1) 250 (2)s 650 (3) 500 (4) 100
What is the maximpm,strength prescribed for State Legislative Assemblies ?
(1) 250 (2) 550 (3) 500 (4) 100
111, IHERE 2017 488 H519 SrH8e1 MEM=A  (UPSC) TEAeE) Sivmsl Fas wiuam 3 ?

(1) fewe ) 3f=e =m fufics
(@) o fald (4) T YERE

Who has been appointed as the Chairman of Union Public Service Commission (UPSC) in
Jan, 2017 ?

(1) Deepak Gupta (2) David R. Syiemlieh
(3) Alka Sirohi (4) Mata Prasad

HEAT HIEGN ST /SPACE FOR ROUGH WORK
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112. G T waiaitst YA TSRS T TeRt ST STRETsat Toht T e, Te99rs
T YA SWLYE! 9 LI B[ TEEER] IR TEa, & Ak T fHaen
(1) TArEm AHemA (2) T e e
(3) ow 5ia g @) s v e vl
Who among the following is that one Indian Political Leader who held the post of a Chief
Minister, Governor of an Indian State, Vice President as well as President of India ?

(1) Ramaswamy Venkatraman (2) Gyani Zail Singh
(3) Neelam Sanjiv Reddy (4) Dr. Shankar Dayal Sharma

113. FEAFHEGE! TAAGA TAHA TAHMT 9 FIO TOEUH! B0 TG & IRa6S 960 T
3 ?
(1) HeEuYg 2) fw=r (3) TSI (4) TSI
Which of the following states became First Indian State to use Automated'Weather Stations
for farmers ?

(1) Maharashtra  (2) Bihar (3) Gujarat (4) Rajasthan
114. fag Tox T 2017 =1 HLEARNS oS TERR = ) ANEFEIE! 0 S,

(1) HENGH Ao (2) onfiw Oudie fagiagsd=

(3) onfd® g devidio (4) TR SIS

Richard Thaler was awarded the Nobel Prize in Economic Sciences-2017 for his
contribution in _

(1) Welfare Economics ' (2) \ Economic Equilibrium Theory

(3) Economic Growth (4 Behavioural Economics
115. YRANS Toehs! sowear 3wl safafen = ?

1) TR - T Wew

(2) favave - IR

(3) SEEER T Ny

(4) W Iy =) TR

Which is the placean India, where a ‘Jyotirling’ is not present 7

(1) Onkareshwar - Madhya Pradesh

(2) Vishweshwar - Uttar Pradesh

(3) DBrihadishwar - Tamil Nadu

(4) Parli-Vaijnath - Maharashtra

116. HIUE] T YT TLIAT AHHE CH Sq@EgR - Aifed! g @i, 8 qovd aret Afysr
ST Nia +e ?
(1) 1948 () 1946 (3) 1956 @) 1952
In which year did the United Nations General Assembly declare ‘Freedom of Information’

as one of the fundamental human rights by a resolution ?
(1) 1948 (2) 1946 (3) 1956 (4) 1952
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117. @ESIH HRE TEH 2017, 317 § ' (ICC) nfeen frske smifas #1 e ?

1) s (2) ™Ia (3) <fwm emplm  (4) efom

Which of the following team won the 2017, ICC Women's Cricket World Cup ?

(1) England (2) India (3) South Africa (4) Australia
118. 2017 ‘=i 53 = TGS JRERRME! Hivea il Fas wivar e ?

(1) TR = (2) WoHs T

(3) ey fgn (4) Fom Hraar

Which person is selected for the 53™ Jnanpith Award for the year 2017 7

(1) Raghuveer Choudhari _ (2) Bhalchandra Nemade

(3) Kedarnath Singh (4) Krishna Sobti
119. 2017 ¥ NS Widl R FHIUTE UG 3T ?

(a) A HYHS T

(b) e et

(c) enfvas AR T TR SRAEd HEd (ICAN]

W IR e

(1) & (b) 2) WK (0 (3 () 37T (c) (4) TR

Nobel Peace Prize, 2017 awarded to whom ?

(a) Juan Manuel Santos

(b) Kailash Satyarthi

{c) International Campaign to®Abglish Nuclear Weapons (ICAN)

Select correct answer :

(1) only (b} (2) only(c) (3) (a)and (c) (4) None of them
120. IV IS SHIORAT AR, WRAK FAQRit aaraial 21 dufaed 18 99 {0 et 7

(1) 1976, 42 & TRAGLRM (2) 1971, 26 & weAGEH

(3) 1978, 44 & HRAGERA (4) 1989, 61 il HEAGTIA

In which yearand according to which constitutional amendment the minimum age to

cast vote in elections was reduced to 18 years from 21 years ?

(1) 1976, 4274 amendment (2) 1971, 26" amendment

(3) 1978, 4t amendment (4) 1989, 61% amendment
121, ¥REH IIEETE] HIoTT W 81 AR Safud 31 ?

(1) wr-1 (2) Wm-1II (3) -1 (4) Mm-IV
Which part of the Indian Constitution is associated with Citizenship ?
(1) Part-1 (2) Part-1I (3) Part-III (4) Part-IV
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122.

30 A
- eh oy . P -
(1) T (THTEsm) (2) SR HiEw
(3) siRfem (4) FHFSI

The framers of the Constitution of India, borrowed an idea of an "Appointment of State
Governors by centre’, from the Constitution of

(1) Russia (USSR) (2) South Africa
(3) Australia (4) Canada
123. ‘' Oifecd sTehIeH! QUERR "' STHRM BIHeHA1 e T fyerme ?
| (1) 3= fus = 2 B W
(3) STHF (4) 14 =fed 13 Tz snfor |
Which book by Asaram Lomate received the “Sahitya Academy Award” ?
(1) Idha Pidha Talo (2) Dhul Per
(3) Aalok (4) 14 Mahine 13 Diwas Aani . . .
124. wifedten sfymREsHN o6t SHERT WoarET |1 HOR Wﬁﬁaqﬁémaﬁvﬁ e ? —
(1) TR (2) ufv=H S
(3) g W @) e

Which is the first state in India to allow on-line'filing of Right to information (RTI)
applications ?

(1) Gujarat (2, West Bengal

(3) Andhra Pradesh (4, Maharashtra

125, TS T e FOR G ST T 2 e 0 1 30?2

(1) s 2) A (3) 9 sfemn (@) STEMUER

. Which of the following countries is the first in the world to grant citizenship to a Robot ?

(1) America (2)%, Japan (3) Saudi Arabia (4) Afghanisthan

126. - .
(1) HTERTER (2) EEA (3) onfe™-ua1 (4) TH

I g FATRL Uleel qidtT HigH
First Indian mission to study the Sun .
(1) Bhaskarayan (2) Chandrayan (3) Aditya-Ll1 (4) Gagan

127.

T T aeare! d 1 v € wad R f:yesn uar= o Sioar T WE w0t 2

(1) F® YW TFR (2) T R
(3) TSIUE WIER (4) ST @R

Which State Government declared free education for every girl student from Kindergarten
to Ph.D. ?

(1) Uttar Pradesh Government (2) Rajasthan Government

(3) Gujarat Government (4) Punjab Government
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128. (SHEEAEM Ul FOHTAR Hare <rA@a smued] e 3 sneenay gafa=n soaren
Hferwr A ?
(1) $SH138 @R (2) $oH142 @R (3) FOT137 8K (4) oA 143 T8N
According to which article in constitution, the Supreme Court has the right to re-consider
its decisions or orders ?
(1)  Article 138 (2)  Article 142 (3) Article 137 (4) Article 143
129, RAG T AT ¢ RHE Toaeeat A’ vt =ee 3e 2
1) . gt (2) . e srEew
(3) oI TF Wi (4) TH.EL. 9
Who referred the preamble to the Indian Constitution as the “Soulof Indian Constitution”?
(1) K.M. Munshi (2) Dr. B.R. Ambedkar
(3) Thakur Das Bhargav (4) M.V. Pylee
130. $SHRITH DM THR 7 do2 I IhetE Svid @’ (NOTA) A1 ST oar Siora aul
FR S ?
(1) 2015 (2) 2013 (3). )2011 (4) 2009
In which year was ‘None of the above’ (INOTAY button introduced in EVMs (Electronic
Voting Machines) and ballots ?
(1) 2015 (2) 2013 (3) 2011 @) 2009
131. ‘Herrg fave 1 fufom’ v SHmE SO G Hefad 2 ?
(1) e (2) e (3) el (4) =ffedio
The "Maharashtra Mission T\Million” programme is related to which sport ?
(1) Hockey (2) Cricket (3) Football (4) Volleyball
132, W v fatay G misd i o R 9 9 S U6e  E

FD?
(1) werel (Mahalabharthi) (2) werERH! (Mahalaxmi)
(3) WREHFE (Mahaschemes) (4) ¥EESHT (Mahayojana)

Which of portal is l[aunched by the State Government of Maharashtra to provide
information about all the Maharashtra Government schemes ?

(1) Mahalabharthi (2) Mahalaxmi
(3) Mahaschemes (4) Mahayojana
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133. TEIHET STHYAF SPAUT 9Tal 3T F99 e TR/ We e UE Seaeiiie uEen
= FBHIES T T A AMS] TSI I TS hel S ?
(1) wfads (2) 3TN (3) fgFRg=1  (4) WY

If any ineligible candidate unlawfully acquires any public/Government post, then which
of the following can be charged against him/her in the court ?

{1}  Prohibilion (2) Certiorari (3) Quo Warranto (4) Mandamus

134. aw R fae e gond! i el fawt 9 St e @ faeg o IrmE! Hord
FYH T T ?

(1) o F79 ~ 33 T2l

(2) e wa - giva o
(3) JURA F= - gUaa vra
(4) GaH N - GUEE 9es

Which progranie was launched by Nobel Prize WinnerKailash Satyarathi to fight against
child trafficking and their sexual abuse ?

1 Beti Bachao - Beti Padhao
(1)

(2)  Surakshit Mala - Surakshit Balak
(3) Surakshit Bachpan - Surakshit Bharat
(4) Saksham Bharat - Surakshit Balak
135, ' 2017 = TitA MH GeRe TERRAIATE A Ji Tite =i o smfidet
oA A,
(1) @R (2) N\ 3) Tfgs 4) F=t

Devendra [hajhria wasawarded 'Rajiv Gandhi Khelratna Award -2017’ for his outstanding
performance in ,_

(1) Hockey (2) Javelin throw (3) Boxing (4) Wrestling
136. qE@ HEmHfEsa 7 9ol TR T G ghidl 378, 1 gehrdr Hed 0y,

16, 19, 21, 30, 46, 71, 107

(1) 30 (2) 19 3) 71 (@) 46

In the following number series, only one number is wrong. Which do not fit in the series.;
find out that wrong number.

16, 19, 21, 30, 46, 71, 107
(1) 30 (2) 19 (3) 71 4) 46
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137. &S T T A on WM W Svarsi miwd Wi n faur et ande.
X &N ¥ = Hafeg 3 ?
(a) XEHME IR TAZWM T T JAR. N T gl FR. Z 7 ] S 7.
) XA YHTAAHS IR, Y& J TS R, | oL W &4 90 IR, [ 8N =1 Fexw AR,
[ECRIEIER e R DR REE 1
(1) WM TR vamet fauF (a) T 5y (b) ndfte i mfedt g @,

(2) T IR L0FEET F A6 (a) weiie miedt et e 9 e (o) weite wifedt quet
i

(3) YEI= SW TS W UM (o) fha wE faum (b)(mHle wifsdt Rt o
(4) Y S 2vare! faum (a) 7 faum (b) At TRRdaTRd sTEes Sk

One question and two statements providing inform@tion to answer the question are given
below.

How is X related to N 7

{a) X is the mother of ]. T is married with Z. N is the daughter of T. Z is the brother of |.
(b) Xis married with Y, 15 the father of |. ] is married with L. ] is the uncle of N.
Select correct alternativelabout the statements.

(1) The data ¢ven In both statements (a) and (b) together are not sufficient to answer
the question.

(2) The data in statement (a) alone is sufficient to answer the question while the data in
statement (b) alone is not sufficient to answer the question.

{3) The data either in statement (a} alone or statement (b) alone are sufficient to answer
the question.

(4) The data in both statements (a) and (b) together are necessary to answer the question.
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138, Toudt 7 S st dieid saavg™ g ygia fager,

0 g @ E‘ ® D *

Select the option that can be used for compléting the grill without changing its position.

AN

"
(1) @ @ i (l @) ‘ @) .
Py
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139. WA =1,B=2,C=3.... 30 SO TS T ANFAHNS A FST WIT T,

<|r[ofwlae
R L | F XJ
y|s|M|g AJ
Blul|T|
Ilc|v

N H]
0 o @

If A=1,B=2, C=3... respectively, then find the¢’missing part of the diagram.

K|J|D|W|Q
R|L | F
Y|s|M|G|aA
Bl|U|T g
1| Cc|vV
N | H
() S @

35

()

)

(4)

(4)

X10

H |

HoAT hTHASE SR /SPACE FOR ROUGH WORK
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140.

141.

142.

36 A
Tow Yo 3Tpdidie Ge ffire aqer oRd.  yeAfereren S JuR) S v,
63 32 9% 42
7@35 1188 13@117 13@65
9 3 12 7
a 21 @ 19 @ 11 @) 13

The numbers in each of the following figure are according to some rule. Find the missing
number in place of question mark ?

63 32 9% 42
7@35 1188 13@117 13@65
9 4 12 7

1 21 @) 19 3) 11 @) 13

Tl Wiklaw w¥a ANTICIPATION ® g ICITNANOITAP-6TT1 fofeam v o= 9mig

PRODUCTIVITY # ¥ %9 fogre ?

(1) CUDOPRYTIVIT (2) CUDORPYTIUIT
(3) CUDORPYTIVIT 4y CUDORPTYIUIT
In a certain code language ANTICIPATION is wtitten as ICITNANOITAP. How will be
PRODUCTIVITY written in that code ?

(1) CUDOPRYTIVIT (23, CUDORPYTIUIT
(3) CUDORPYTIVIT (4) CUDORPTYIUIT

GIH® TAF AFae ge fERENGIHan . Jwta=sre S St ge 388 ?

(1) 144 (2) 288 (3) 96 (4) 244
The numbers in each of the following figures are according to some formula. Which
number will occur in the place of question mark ?

Y

(2) 288 3) 96 (4) 244

FHoeT FIHATS AT /SPACE FOR ROUGH WORK
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143. Eio Ko wifel Sty am=n it 1™ SW W

SR A X B ®US A BB 1 [ TR,

A+ B =S A €l B = gl AR

W A+ B %I A ¥ B Al T AR

WA - B WU A € B T TS0 IR,

H¥ E= o1 %R 3 weuriia Soared] wicie faumm v T 9l | 4,959 2
E+F-G?H

1 =+ (2) x €)M @ 1), (2 Q) T
Read the following information carefully and answer, the question.

If A X B means A is son of B.

If A 4B means A is daughter of/B,

If A+ B means A is wife of B.

If A —-B means A is\father of B.

What will comé'in the place of question mark in the following statement to establish that
H is mother of E ?

E+F-G?H

n = 2y x 3) - {4) None of (1), (2), (3)

HeAT hIAMTS W /SPACE FOR ROUGH WORK PT.O
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38 A

A e
TE AT :
O O [SH= s DI;-W
0o o E—rL |
ST INFeT

’@ El]‘ﬁ ol @@ O
o0 o@ 0g o
(a) {b) (c) ()

(1) () 2) (® {3), (<) 4 ()

A series of figures is given in the question figure.

Question Figures :

Select a correct figure from answer figures which will replace the question mark.
; —1
?
]

E_Ea_ErfT
- ad g
Answer.Figures ;
(@ glg g mlo O
O o oo og o

(@) (b) (©) (d)
1) @ (2) () @) ( 4 @

FHoAT HUTES AN /SPACE FOR ROUGH WORK



39 X10

(1) 40 (2) 41 (3) 42 4y 43
The numbers in each of the following figure are according to some formula. Which one of
the following number will occupy the question mark ?

(1) 40 2) 41 (3) 42 4) 43

U] I Wodeh ol =19 70 9. 3R, SR SiandaT ailt 66 Tl 380 ™ yas 9%
10 faferd faft dea Qi fR@ ? (w=22/7 =)
(1) 11,000 (2) 7.000 @) 5,500 (4) 5,000

Each wheel of a car is of diameter 70, ént”) How many complete revolutions does each
wheel make in 10 minutes when the'car«is travelling 66 km/hr ? (Take mw=22/7)

(1) 11,000 2) 7,000 (3} 5,500 4) 5,000

T TR T 8,000 TESTH 6% T T oA FT.
(1) %520 2) T 480 (3) ¥ 500 4) T 560

1
Calculate yearlynterest on T 8,000 at the rate of interest 65% per annum.

1) 520 (2) ¥ 480 (3) T 500 (8 T 560

A
145,
IRt AS?
abyabyar
NZANIEZAN
0 (i) (i)
@) () (i)
146.
147.
148.

BT frudlat ¥FE 6 G2 <o ThIRNS TF 9@l T 1,128 o fawen, @ vearst oo fhmm
fareit 2

(1) T1134 (2) 2000 3) T 1,200 4) T 1,250
A shopkeeper sold a fan for X 1,128 after giving 6% discount. Find the Market price.
(1y 1,134 (2) 2,000 3y T 1200 4y T 1,250

Hol RIMATET AR /SPACE FOR ROUGH WORK
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149. U Tl BHie fFHa T 180 31T 2T 153 @ fase. ™ IHs! 2 FEl.
1) 15 % @ 27 % (3) 20 % 4) 17.65 %
A book is marked T 180 and sold for T 153. Find the rate of discount.
(1) 15 % 2y 27 % (3) 20 % (4) 17.65 %
150. o= fafedae! foge qu Svaefa T 3 3 auiad! 3 125 TALEW. TUH F@as SArsiet
¥ 16,000 IR B, T AT Gles SASTE T THR ST 3100 W AR Tl ol owar 72
(1) T 780 (2) T 781.25 (3) T 78250 (@) T 79475
In order to buy a lift pump for his well Ram borrowed ¥ 16,000 for 3 vears at a rate of
compound interest of ¥ 12.5 p.c.p.a. What would have been the difference in the interest
on his principal had he borrowed it at simple interest ?
(1) ¥ 780 (2) 278125 (3) 3 78250 4) T 79475
151. 99 ®ura foug Yefite d@@n swn sed & veen @ g e, R foar S
TN 17 S AR, T T gad HETq Hhvrd ?
(1) 3 (2) 5 3 7 4 9
Three consecutive odd natural mumbers are such thatthe product of the first and second
number is I more than two times the third number.\Which is the second number ?
(1) 3 @ 5 @F 7 @) 9
152. 30 FHHARAAT T o0 ITToen FEer il mied arore T (ool o1,
ferawiieit Hem 0-10 [10-20 20530 | 30 - 40 | 40-50
S e 5 A 11 EE
T FHErEA T FUid STRHATN S T H Ha
(1) 2345 fga@ (2ZTN'25 feayg (3) 2267 feaw (4) 27.24 feag
Information regarding th&Inedical leave enjoyed by 30 employees in one year is given in
the following table’
No. of days 0-10 10-20 zé;sol 30-40 | 40-50
No. of employees 5 I 7 11 4 3
Find the mean number of medical leaves in one year.
(1) 23.45 days (2) 25 days (3) 22.67 days (4) 27.24 days
153, TEIER. 10 T T 50,000 o TR f&Rat 7afd € 60,000 Bites ?

(1) 234 (2) 43 (3) 2594 @) 3=

In how many years a sum of ¥ 50,000 will amount to T 60,000 at 10% per annum simple
interest ?

(1) 2 years {2} 4 years (3) 2.5 years (4) 3 years

HET SIS I /SPACE FOR ROUGH WORK
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W U AR %wmﬂﬁu@mma@ﬁ%wwﬁﬁ.ﬁ.w@raﬁmwwgm
aroft i W oS o9 19 TR . T e o woe SR R o9 el
(1y 207 2y 21 f®3 (3) 22 %4 (4) 23T®3

th th
If % part of a pail is filled with water then it weighs 15 kg and if % part of the pail is

filled with water then it weighs 19 kg. Then what is the weight of the pail when it is fully
filled ?

(1) 20 kg (2) 21kg 3) 22kg (3) 23kg

[y Tt ?

(y 1/2 (2) 3/5 (3) 2/5 4) 7/15

A committee of two people is to be formed from 4 boys and 2 girls. What is the probability
of having at least one girl in the committee ?

1 1/2 (2) 3/5 (3) 2/5 4) 7/15

. U GuRe 100 foeneata quadt 97 60 o76d, $E=n "9 60 Taaeata gumdt 579 90 9. W

T T e 150 foemet= guadt o #@.

1 65 2 75 3) (380 4) 70

The average age of group of 100 students is 60 and\fer another group of 50 students, the
average age is 90. Find the average age of combined group of 150 students.

1) 65 (2) 75 (3)\ 80 # 70

157.

158,

TF HYHET T a9 e dred anfo gaiNever 30 fufae ssamat we ana diged g fad
10 Tafe Wy e . @FE o, T fenia 40 fufae 3=a enfor gomn ami 15 fufqz oy 1y
FHW. THR O T S A e Teamel we A, W AyERTE sswEr on e
ITUATE] AR URTHA or, A%, et fadt e sTe dieaan ¥ Bkt 2

(1) 145 W=\ (2135 . 3 125fw 4y 115

A bee leaves its hive in theomorning and alter flying for 30 minutes due north reaches a
garden and spends J0\minutes there collecting honey. Then it flies {for 40 minutes due
east and collects heniey’ in another garden for 15 minules. Then it returns to the hive
taking the shortest route. Assuming that the speed of the bee was constant throughout its

flight, how lorg.the bee was away from its hive ?
(1) 145 min. (2) 135 min. (3) 125 min. (4) 115 min,

TH MER 555 TH.H yarmmn @l wm o anll 60 R A R Fel Fa mErE 9 a
15 T, aeegd Fo 999 ¢O St ) U 8§ THE oW ¥ Y99 Y0 Fa 3T at amiy
60 .. 1 A @ MEW fordll 7.7, Yo" S 9 IEet o el fRdl Se wnre ?

(1) 120 fwdA 2am (2) 180 TR 3 ARt (3) 240 FRA 4 At (4) 260 TR 6 arwh

A car travels some part of a 555 km journey at a speed of €0 kin/hr. It increases its speed
by 15 km/hr for the remaining distance, If it covers the entire distance in 8 hrs, then how
much distance does it cover at 60 km/hr and how much time does it take to cover this
distance ?

(1) 120km,2hrs (2) 180 km,3hrs (3) 240km,4hrs (4) 360 km, 6 hrs
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159. 9 TR 9 R 43S UE 9 14 e 7of $% v, o€ 39 &M 9 9oE 9 w6 99 10 faam
wof . o<W T § s 9o wvarnd e feam e ?
(1) 30 = (2) 35 =g (3) 55 ey @) 70 frag
Three men and four boys can do a piece of work in 14 days while four men and six boys
do the same work in 10 days. How long would it take two men to finish the same work ?
(1) 30 days {2) 35days . (3) 55 days (4y 70 days
160. wmﬁmwﬁmmmﬁwmmﬁﬁﬁsﬂ% T A FEA
<R faskar A <t wgw fasnt T 18,000 319 T Wald 9rd 9 Haid wH famiadie W Sl
faskar B fashan A
120° 90
fasa D
fagkar ¢ ™
80°
1) T 2,500 (2) ¥ 5,000 (3)m. € 75500 (4) 10,000
The following Pie diagram shows the weekly.sales’of four sellers. If seller A has a total
sale of ¥ 18,000 then find the difference in saléstbetween the highest and lowest seller.
Seller B Seller A
120° 30°
SellerD
Seller C 70
80°
(1) ¥ 2,500 (2) T 5,000 (3) ¥ 7,500 (4) ¥ 10,000
161. mgmnzﬁwzsomm?ﬁmmm R, S Iwgaerar smsfen fag sAfimed

g ™
(1) ¥ 5,000 &= ﬁ S i ) ¥5,000 dfuF FS TS

(3) T 10,000 TN &S FAKINS (4) ¥ 10,000 AfUF HS WS

An amount of ¥ 5,000 is debited twice in the Pass Book. When overdraft as per the Cash
Book is the starting point then

(I) ¥ 5,000 will be deducted (2) ¥ 5,000 will be added
(3) ¥ 10,000 will be deducted (4) ¥ 10,000 will be added

ST HITEE SO /SPACE FOR ROUGH WORK
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163

164.

166.

FHoAT RIS AR /SPACE FOR ROUGH WORK
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WS T I7-fAurT R
(1) fo=te adEmit (2) wTE @i
(3) HAWHRW GaAF @) =ts! ad
The following is the subdivisions of ledger :
(1) Sales ledger (2) Creditor’s ledger
(3) General ledger (4) Al of the above
. W wEEAn g sifaeiten feddt e weo wire S
(a) W ) <A (c) a1 geF (@ TEY
T I I/ ITN AT 3R 7
1) (a) 37 (o) (2) (b)ws (3 () x @™ (o)
Payment made to the Chief Guest of school program, is termed as :
(@) Gift (b) Donation (c) Service Charge (d) Honararium
Which of the above answer/answers are right ?
(1) (@) and (0 (2)  (b)only (3) (dyonly 4)  (c) only

% Ie oY HRY T T FHURE FO SIRTAR ITSHY 37T THA.

(1) e @)\ T
) ICAEREES @)\ % Yol 1w
can reveals frauds commuitted by the staff handling cash and cheques.
(1) Balance sheet (2) Journal
(3) Trial balance (4) Bank Reconcilialion statement
. ATy ABIRON AieAH G aqR HES ¢
1) sfwy 2) §w @) = @) o
A Bank Reconciliation is prepared by :
(1) a Bank (2) the firm (3) creditors (4) debtors

SHTHaCE saeEmErE! Hiea faghi=! Al ared aTe

(1) fo=! As=id (2) WAEHRY (SIS
3) & wE @) W= gEE

The sale of a business asset on credit is recorded in :

(1) Sales Day Book (2) General Journal
(3) Purchase Book (4) Cash Book

P.TO.
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167. TA faum fawad =1
(a) ol B 9% = famt AremT gites,
(b) THS T I VGl FTUTAT FHAG! TG T FH WRAAT T qe FS .
(c) TSl AdA ITFHT YISH WhH A N HieT Wy 1 S fofeam,
(d) T e U fhar fvuwm Rees <l
FhH! TR faym,/ faa sftew sa ?
(1) (a) =0 (b) (2)  (a) ¥ () (3) (a) ® # (d) P
Consider the following statements :
(a) Sales— Gross Profit=Cost of goods sold.
(b} The provision for doubtful debts is debited tg Badh Debts Account.
{(¢) Income Tax paid on behalf of the propfigtoris debited to the Profit and Loss Account.
(d) Profit is always represented as cash, or bank balance.

Which of the statement given above i5/are correct ?

(1) {(a) and (b) (2)_°fapand () (3) (a)only (4) (d)only

168. iU VeSpovil 9+ & TR :

(1) UG gD W (2) SAfysm grEmEn 9
(3) THURH Tl WM 4) et HoRE T
A Bank Reconciliation statement is a :

(1) Part of Cash Book (2) Part of Bank Account
(3)  Part of Debtor's Account (4) None of the above

ST TS WA /SPACE FOR ROUGH WORK
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169. TGO SISl @6l ¢

(a) 3T 0 T T@ (i) TS T

(b) wisaw 4t (ily TS SHEeR Fd=n |
(€) wisa® T (i) RTINS ATHH
(d) TS AqT HIEA (iv) fer oo famma B0

Tgidr I

@ O © «
M 6 @ @ W)
@ () @ @
@) G @) @)
@ (v @) ) @
Match the following, :
(@) Receipt and Payment Account (i)  Revenue Income
(b) Capital Fund {ii) Summary Record of cash transactions
(c) Capital Expenditure (i) Excess of Assets perliabilities
(d) Salary grant to school (iv) Acquiring Fixed "AsSets
Answer options :

f—

e s T

=
——

@@ (b} (o) (d)
1 O @ [ )
) i) (@) @ (v)
@) @) ) v
@ (v) @iy (i) ()

170. o SN Gemed, TR 9 912 TFEe] sdaee (faes deard @6y Wgaw Grael i
FIAM G 9o :
(a) Wiea® @il < 21
(b) wisaw @ Ad
(c) T 3MOT dreT WS A Bk
(d) TR 3T AT THRSAT B
FUSUHT HIv fopny Ty FieT =T ?
1) (@) P @ ®IftE @ e @) (@
In case of sole - proprietory firm, the amount of net loss shown by the Profit and Loss
Account is transferred to capital account, the result ___
{a) Capital Account is credited
(b) Capital Account is debited
{c) Profit and Loss Account is debited
(d) Profit and Loss Account is credited
Which of the above statement(s) is/are correct ?

(1) (a) only (2) (b)and {(c) (3) (b)and (d) 4) (a) and (d)

THoAT HIFMEE S /SPACE FOR ROUGH WORK P.T.O
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46 A

TEifa T ST S

(1) DEF FeEH= e (2) OTFHT F@EH YEaite

(3) W woELt= FemEH (4) TSR B AR

Adjusting entries are made at the :

(1) end of the accounting period (2) beginning of the accounting period
(3) middle of the accounting period (4) none of the above

172,

HIGHH STGET A HR A1 T A9H TS e,

(1) @@ () wiEds @R

(3) =9GN 4) W& Ed

The amount brought in by the proprietor in the business should be credited to :
(1) Cash Account (2) Capital Account

(3) Drawings Account (4) Purchase Account

173,

Qerfirer T TART ruTaTen favm 7 fraeet ol :
(a) T SO TH GRAE HdT
(b) TeSSETS WA Sed HAW
(¢) OTesscreAl RIa=H1 SRE HAd

AAHT o @t IET R ?
(1) (a) P (2. \(b) =¥
3) () B (4y” art o AT

Educational Institution received\donation for special purpose of Building Construction it
(a) should be taken 0 Inedme and Expenditure Account

(b) should be taken toWAssets side of Balance Sheet

(c)  should be taken liabilities side of Balance Sheet

Which is correctioption ?

1) () only (2) (b)only
(3) (chonly (4) None of the above

174. GaEUT e =9gR aMe] 3R
(1) HEHUTEN FH (2) fovowomeas w9
(3) STEISAER (4) aletH W
Ledger records transactions in :
(1) a chronological order (2) an analytical order
(3) by weekly (4) all of the above

Heedl BIHMErSt | /SPACE FOR ROUGH WORK
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175. GBI FHAE Hg I S TE WA w1 ?
(a) TR wrem=n famiade @
(b) ARG G
(c) FFanieh fawl
(d) TR TR Sqyace vigad &4
it I :
(1) (a) %W @ ()R
(3) (b) 30f0 () e (@) (d) e
Which of the following is/are to be recorded in an Income and Expenditure
Account ?
(@) Loss on sale of Fixed Assets
{(b) Purchase of Building
(c) Sale of Machinery

(d) Capital Expenditure incurred on Fixed Assets
Answer options :

(1)  (a) only (2)  (b) only
(3) (b) and (c) only (4) (d)only
176. T THIHMLY %0 TR i HEha,
1) @ {2) *suR
(3) TRME ATETAT @) Fhtst T
Only purchases are fecorded in Purchase Book.
(1) Cash (2) Credit
(3) Small Scale (4) None of the above

177. @&/ ffved @n FersHedn ¢
(1) e FEaqa el
(2) FSToEH-geud g A
(3) IS T T FEHd T A
(4) <HIR oFE Wedd g AR

A Suspense Account is opened when :

(1) The Balance Sheet does not agree

(2) The Trial Balance does not agree

(3) The Profit and Loss Account does not agree
(4) The Trading Account does not agree

HoeAT HINES 9N /SPACE FOR ROUGH WORK PT.O
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178, e o

(a) 3NTSIEd QWG Yo Tradt

(b) wreuE feoet WA

(¢) THRD Hurd HLogrerd! fEodt ey

(@) ubeE 9T fimedt Jort

gt I

@ (b) () (d)

() @ @ O @)

@ @ O @) @)

@) @) @) @) @

(4) (@) @ @ )

Match the following :

(a) Life membership fees receipts

(b) Payment of Rent

(c) Payment for acquiring building

(d) Donation Received by Charitable

Insttution

Answer options :

(1)
(i)
(iv)

e~ —
: Y s Tt
P = P
o S
—t

TR 3T
G IEC T o)
e RCE]
vieae =@

Revenue Receipts
Capital Receipts
Reventie expenses
Capital-Payment

179.

180.

@@ (b) ()} (d)
(1 (@) @) @ (v)
2 (v) @ @) (@
(@) @) @y @) ()
@ @ @ @ )
T 5,125 & o YT 250120 ol T oet Ak # ¥,
(1) TegHR/ faaoe 99 (2) STUiETEE Feedl g6
@) dfes g (4) T Y
T 5,125 recordedfas\¥ 5,120 in the books of account. Itis __
(1)  Error of @mission {2)  Error of Commission
(3) Erroref\Principle (4) Compensating Error
SR FrEes TR <X & foshian 25% o1, &g famt @ 2 1,05,300 317 W See TR &hn
e
(1) T 26,325 (2) ¥ 35,100 (3) T 21,060 4) 10530

If the rate of Gross Profit is 25% on sales and the cost of goods sold is ¥ 1,05,300, the
amount of Gross Profit will be o
(1) T 26,325 (2) ¥35,100 (3) T 10,530

% 21,060 (4)
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181. WRAI® F6 Tfie QRO FE9 () THEA FIomeAl Iqarad §F w2

(1) TSI e (2) TAHEA fan

3) W= wiheE (4) Tt HIvE A

New Economic Reform in India were introduced by the Congress (I) Government led by :
(1)  Rajiv Gandhi (2) Manmohan Singh

(3) P.V. Narsimha Rao (4) None of these

182. [Erodsl 4y faud fas.
(a) ST SATIR WeEA=] T 1 S, 1995 T 0 3o,
(b) ST SR HEEA ey fameentis Sl 3 ak.

W’hﬁ' W
(1) % (a) (2) " (b)
3) (a) M0 (b) SIS (4) Yt UL

Select the correct statement from the following,.

(a) World Trade Organisation established on 15January, 1995.

(b) The headquarter of World Trade Organisation/is at Geneva, Switzerland.
Answer options :

(1) Only (a) @, (only (b)

(3) (a) and (b) both (4) None of the above

183. @S faum faarm = :
(a) et Wawg gH T @mAT 2001 - 02 AE .
by Trieaues faurm=i TrgAT 2002 - 03 7L @E.
(c) T GURI SEFNET T Fart 2000 T HE.

Tt SR EEEA FUaT aera ?
1) @ 3@ 2) ®) I
3) (a) 7 (0) @) (SiH 98

Consider the following statements :

(a) Loan Guarantee Redemption Fund was established in 2001 - 02.
{b) Department of Dis-investment was set up from 2002 - 03.

(c) Expenditure Reforms Commission was constituted in Feb. 2000.
Which of the statement/s given above is/are correct ?

(1) (@) and (b) 2) () and (c)

(3) (a) and (¢) (4) All of the above

HEHAT HHEES 9 /SPACE FOR ROUGH WORK P.T.O
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184. WY FT Hiead (DTC) TSSURT FRITAT FHETE I et 318 ?
(a) SATEHRT HEF, 1961 (b) hEr TasRiet FmEel, 1956
(c) e IUEAYCH FAC, 1944 (d) heg 9% 9 Hel FT FIT, 2017
TgiEr I

(1) ™ (d) (2} T (a)
(3) W (a) YT (d) (1)  ®EH (b) T (c)
Which of the following Act is replaced with Direct Tax Code (DTC) ?
~(a) The Income Tax Act, 1961 (b) The Central Sales Tax Act, 1956

{c} The Central Excise Act, 1944 (d} The Central Goods anid\Services Act, 2017
Answer options :

(1) Only (d) (2) Only (a)

(3) Only (a) and (d) (4) Only (b) ad {c)

185, SIdehIRuI {&T Hesh I ?
(a) <o UHEE] YT WIS YATE FUgig WA SUaehid] STIRie STSUa FHT FH,
(b) SV WA WiSTS THITATE 81 FhNJI Frareror] i wor,
() W daq yare FfHdae e i,

(d) =t od
it S
(1) (a) nfr (b) ()" (b) 37 (c) (3) (a) 4) (d)

Which are the miain parameters of Globalization ?

(a) Reduction of trade barriers so as to permit free flow of goods across the national
frontiers.

(b) Creation of an environment in which free flow of capital can take place among
nation states.

(c) Creation of environment, permitting free flow of technology.
(d) All of the above
Answer options :

(1)  (a) and (b) (2)  (b)and () (3) (a) only (4)  (d)only

HoAT HIWER AN /SPACE FOR ROUGH WORK
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186, @O foum fasmm =0 -
(a) e deEites A qer 3R S gum it amfee = 3Ei g,
(b) <EEA Yo A SR T T IR GO IG1 8% ezt w0,
() STHUST yEaltd Fea ‘Seg I AfiE TS JEiel Hed QrETd S,
Ftete] SRy faum/A atag s ?
1) (@) ¥ (b) @ ®F0
3) (a)F () (4) et wd
Consider the following statements :
(a) The Ninth Five Year Plan main aimed at ‘growth with social justice and equality’.
(b) The Tenth Five Year Plan objectives was to achieve an average growth rate of 8% on
the GDP.
(¢) The Fleventh Plan emphasized ‘faster and more inclusive growth’.
Which of the above statement/s is/are correct 7

(1) (a) and (b) (2) (b)and (c)
(3) (a)and (c) (4) Al of the above
187, T TR S TEGE) I W O TR
(a) SERIH (b) T (¢) UrErEteeE (d) SIfdeRTHT
it st
(1) ¥ (a) (2) = (b)
(3) WHH (c) (4) THAE

Which of the following is not included in New Economic Policy ?
(a) Liberalization {b) Privatisation {f¢) Nationalisation (d) Globalization
Answer options :

(1) Only (a) (2)/ Only (b)

(3) Only (c) {4) All of the above

188. @ﬁﬂﬁ?ﬁﬁﬂl’(ﬁ@:
(a) 73T 74 o GTNGEGHTITER TaEd TSl GeiHT ST Tl fee.
(b)  TSTTa MY YEEe @R AR B Gl SIS derad e et FEE R

F.
(©) Tt i Jendd GeraiETo STiamTsT Fem T weR i e,
ot SR,/ aum/ H\T AR /47?
1) (a)F(b) 2) ®FE (3) WH (c) (4) ™ (a)

Consider the following statements :

(a) The 73" and 74" Constitution Amendment Act provide constitutional status to the
Panchayati Raj Institutions.

(b) The Rajiv Gandhi Panchayat Sashaktikaran Abhiyan (RGPSA) has been launched
to strengthen panchayats across the country.

{c) The RGPSA is state government sponsored scheme.

Which of the above statement/s is/are incorrect ?

(1) (a) and (b) (2)  (b) and (0) (3) only (c) (4) only (a)

‘el RIS W /SPACE FOR ROUGH WORK P.T.O



X10

52 A

189. Wi SATIR Hoe=a1 Havid Wote faum fo=mm =
(a) OIS SR HeETE SR ST SIS S Hul w0 TR,
(by Hst ftug g Faten fofa S e o1,
(©) feda 2005 wed Gerat Wit wftag <er 49 Zreh e,
e H e S T 2
1) (@ H(b) 2) (b)) (3) s (b) (4) HH ()
Consider the following statements regarding to WTO :
{a) The purpose of WTQ is to remove restrictions in International Trade.
(b) The highest decision making body is the Ministerial Conference.
() The sixth ministerial conference was held in Doha in Dec. 2005+
Which of the statements given above is/are incorrect ?
(1) (a) and (b) (2) (b) and (c) (3) only (b) (4) only (v)
190. =g & 3l 9 ' <e Bt woets! S faEmt et s
(2) FUR FThF (b) ST SR
(c) A = FEHIH (d) s ST
SR DI TG T 3Te/37e ?
(1) (a) T @)° (b) smiT (c) T
(3) (a) TN (c) o (4) (d) B
‘Doha Round’ of WTO is related with issues, which of the following ?
(a) Liberalization of Agficultare (b) Liberalization of Industry
(c) Liberalization of Serviwe Sector (d) Liberalization of Investment
Which of the optionwgiven above is/are correct ?
(1) (a) only (2) (b) and (c) only
(3) (a) and\{eponly (4) (d)only
191, ‘HIfS® <O/ 9 I9a9E gE At HIo Tt g R AR e 7

(1) 3Teat A (2) TEEl IS (3) el g (4) STIE! A

Which of lhe Five Year Plan has focused on ‘Growth with Social Justice and
Equality” 7

(1) Eighth Plan (2) Ninth Plan (3) Tenth Plan (4) Eleventh Plan
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192. 9% 9 91 T (GST) Hafta SeAgaet ot ?

(1) 98 &t SAIGEET (2) 99T wHeAgES

(3) 100 & HeNEEE (4) 101 S YyAIGEH!

Which of the Constitutional Amendment is concerned with Goods and Services Tax
(GST) ?

(1) 98t Constitutional Amendment (2) 99 Constitutional Amendment
{3) 100t Constitutional Amendment {4) 101 Constitutional Amendment

193. ‘7E i o’ s feasit et e ?
(1) 2454,1990  (2) 249, 1990  (3) 24 9, 1991 @) 24 I, 1991

On which day, “‘New Economic Policy” accepted ?
(1) 24" June, 1990 (2) 24™ July, 1990 (3) 24" June, 1991 (&) 24t July, 1991

194, T UAAIt AeHd vfiem THE=0 YREEE 1959 7 B AR Usfauard e ?

(@ TR Ior TheT (b) TR G TwmeT

(€) Tl NI Johed (d) =aPtehgd

et HITK FE TS 3T/ ?

(1) (a) TR 2 (o) w= 3) (@, ®)(c) (4 (dFF

Which of the following projects was\implefented in 1959 with the help of West Germany
in Second Five Year Plan ?

(a) Bhilai Steel Project (b) Durgapur Steel Project

{c) Rourkela Steel Projeat {d) All of above

Which of the option given above is/are correct ?

(1)  (a) only {2)  (0) only (3) (a) (b)and () (4) (d)only

195. CHo WEES, et HI0e TEETER dgUe A setfania quine g wea
Trasren ?
() TRIPS (2) TRIMS
(3) oS A= (4) A=t wE e

As per the which provision of Dunkel Proposal, Multinational Corporations entered freely
in Less Develop Countries ?

(1) TRIPS (2) TRIMS
(3) Above both {4) None of the above
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196. STHTAT Yaaiites Qo1 HEHE T 2

(1) 2007 § 2012 (2) 20121 2017

(3) 2007/08 9 2011/12 (4) 2006707 9 2010/11
State the period of Eleventh Five Year Plan.

(1) 2007 to 2012 (2) 2012 to 2017

(3) 2007/08 to 2011/12 (4) 2006/07 to 2010/11

197. @O faur faemg .
(a) TR § YRAWS Uiee T 3R S TAfed 40 T9R 8 1994 IR % 2.
(b) 2014 Wed ot Afeen 90 TR &S F.
() @ wruimed nfgeren ofdw ferdnyd guron wvarss. oy Higa FO.
Fiedst FoE /o faum/A Siew 2Te/a ?

(1) (@ =) (2) (O3
(3) (@ F() (4) AT T
Consider the following statements :

(a) Maharashtra is the first state iryIndia to formulate women policy which was declared
in 1994.

(b} Third women policy was, declared in 2014,

(¢) These policies focugédhow' reforms in economic conditions of women.
Which of the above statement/s is/are correct ?

(1) (@) and () 2) (b)and ()

(3) (a) and @ (4)  All of the above

198, SN Y9AF domen T T ot 27 fedat 2012 TS s fanaen dafwa waan
et 2
(1) 56 2) 57 (3) 59 (4) 52

On 27" December 2012 in which meeting National Development Council approved the
12" Five-Year Plan ?

(1) 56 (2) 57 (3) 59 4) 52
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199, W2 FIONER B R 7
(a) 92 TR
(b) SEHIEATSH Sfem zoAEY
(c) SRATS Tfged TUATR
(d) It sifam fasnt g geg ' wd Toaie
el S
(1) (@) FH @ @ O @) AT @ (@ FH
VAT is imposed :
(a) Directly on consumer
(b) On Final stage of Production
{c) On the First stage of Production

{d) On all stages of value addition between Production and Final.sale
Answer options :

(1)  (a) only (2) (@) ®)and &) (3) (b)and(c) (4) (d) only

200. 59, 1966 IS MRATE Tuare fodt zeamid saeay Hloa e ?

(1) 335 TFH (2) 175TFh (3) " (19:5veak (4) 365TF

At what percent devaluation of Indian Rupees\was done on 5T June, 1966 ?

(1) 33.5 percent (2) 17.5 percent (3) 19.5 percent (4) 36.5 percent

-o0o-
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8) VefEEs) fafe Foew e sy F9 $9 (TF 9F) U9, FeTyiasatia SR 9
TN FERMEL F= HIF hodd T FHG HIOA=I KIE F A, o0 TS SEG 9 WHER SHEINE
IEAH SR Shee e g e wieay Farseed futEe-82 " anite RgeTaR HEn
FOAE T3 A 6l S SIS Weh AOTSA HEIGREET A0, e w9 TR gond TR Ssrear feere
A TR,

(9) TR FEETRE En ot FO8 % gueET Iearel B TEiasT [a:aiEl Tl
ST TG WA SR, ATH URTSRATETET ATyt SHEATaR STYeal ITuiAch Sl |- 1
wEHagETer e 7 fauTar T ST avadd IE

T & 201,

W % 201,

AT T
Q) @ T T () SeaTHs R
@) W e 1 (4)  TesEw A

B WEEE A I () T THHET W AT SR, AP 91 WA 3 (9)" e e
AR T 3. 201 FAe Swi-0 3 ({§ades T ol w6 e e
ONON NO

SN UHAH WA WeTRARAlcd wolsh TYATal gl I-hH(sh 81 TR s [Eaee

TYfHFal® o 0 TN gHe HH19d S 00 Srdihd $6d SrEarEl. gt
e ShTcodl YIS ATHE, ST, Uf-Ae oF yIge 09 aus 9.
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